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Instructions: 1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Complete the following sentences by choosing correct alternative. [10]
1) A share of service sector is in Gross Domestic Product in
. Indra
a) Steady b) Increasing
c) Decreasing d) Odd
i) Nature of Indian economy is
a) Backward b) Undeveloped
c) Developed d) Developing
i) Twenty Point Programme was startedin _ for poverty eradication
in India.
a) 1975 b) 1969
c) 1980 d) 1984
iv) Jawahar Rozgar Yojana (JRY) was started in the year  in India.
a) 1950 b) 1972
c) 1989 d) 1991
v) Technical employment is mostly occursin _ sector.
a) Agriculture b) Industry
c) - Trade d) Service
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vi) According to Senses 2011, Sex Ratio was in India.
a).. 927 b)* 953
c) 940 | d) 943
Vii) Population was literate in India according to 2011 Senses.
a) 64% b) 74%
ey 1% d) 82%
viii) India's new population policy was declared year.
a) .1999 by 1991
c) 2000 d) 2005
ix) Inthe concept of sustainable development, relation between development
& - isewplained
a) Population b) Employment
c) Economy d) Environment
x) India has accepted economy after independence.
a) Socialism b) Capitalism

c) Democracy d) Mixed

Q2) Write Short Notes (Any Four) :
a) Types of Unemployment.
b) Structural Changes in Indian economy.
c) Problems of Social Imbalance.
d) Concept of Literacy Ratio in India.
e) Causes of Low Per Capita Income.
f) Remedies for Poverty Eradication.

03) Explain the Indicators of Inclusive Growth in Indian Economy.
OR

What is Unemployment ? Discuss the remedies for Unemployment.

04) Explain the Indicators of Regional Imbalance in India.
OR
Explain the causes of Growth of Population in India.
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